Genetics 1
* Mendel's Experiments
* Mendel's Models
* Genetics Vocabulary

* Complex Models of
Inheritance

* iClicker Question #1

Labs start this week!
* Due in Lab — Pre-Lab 01

* Genetics Survey due Friday
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Bio 111 Genetics Definitions:

Character = a heritable feature of an organism (ex. eye color, pea shape, etc.

Trait = one of many forms of a character (ex. blue eyes, brown eyes; round peas, wrinkled
peas, etc.)

Gene = a particle of inheritance. “Seed shape in peas is controlled by one gene.” In the

simplest cases, each gene controls one character (ex. a gene for eye color or pea shape),
and each character is controlled by one gene.

Allele = an alternative form of a gene. The different alleles of a gene control different traits of
that character.

(ex. “The seed shape gene in peas has two alleles, each conferring a different trait:
R - round and r - wrinkled”)

wild-type allele = the allele most commonly found in nature

mutant allele = an altered form of a gene that is different from wild-type

r_Genotype = the alleles present in an organism (ex. “RR”, “Rr”, “rr”)
homozygous = both alleles are the same type (ex. “RR rr”) a.k.a “true-breeding”
homozygote = an organism that is homozygous

heterozygous = both alleles are different (ex. “Rr”)
heterozygote = an organism that is heterozygous

haploid = having only one allele of each gene; sometimes abbreviated “N”. Gametes
(eggs, sperm, etc.) are haploid and would therefore have genotypes like “r” or
“R” but not “RR”.

diploid = having two alleles of each gene; sometimes abbreviated “2N”. Most cells of an
individual are diploid and would therefore have genotypes like “RR”, “Rr”, etc.

Phenotype = the observable characteristics of an organism (ex. “round peas” or “wrinkled
— peas”)

dominant = the phenotype observed in the heterozygote
types of dominance
(ex. A =red and a = white, so the homozygotes are AA - red and aa - white)
* simple dominance = the heterozygote looks like one of the homozygotes
(ex. if A is simply dominant to a, then Aa would be red)
* incomplete dominance = the heterozygote’s phenotype is in between the

homozygotes (ex. Aa would be pink - in between red and
white).
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